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NATIONAL SUN YAT-SEN UNIVERSITY

English Test
MA Entrance Exarnination
April 15, 2006

This exam consists of a Grammar and Vocabulary pert, and a Reading Comprehension part. The
total number of questions is 50 (2 poinis per correct answer). You have 100 minutes for this exam.

* For the Grammar and Vocabulary parts, choose ihe word or phrase that fits best in the blank
of the given sentence.

» For the Reading Comprehension part, choose the answer that comes closest to the meaning of
the text.

Grammar and Vocabulary

1. My mother is in eighties already.
a. her

b. the

G. nineteen

d. several

. The telephone rang ; I guess nobody was home.
. yesterday

. loud

. incessantly

. Ting tones
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. Have you tried those egg tarts? They’reveally !
. tasteful

. tasty

. taste delicious
d. deliciously

O TP W

- Can you explain to me how a computer ?
- works

. working

. work

. to operate

Lo o' R

. T cannot why she loves him.,
. apprehend

. comprehend

. imply

. infer

.0 o' R La

. The center of Taiwan is too to be densely populated.
. mountaineering

. mountains

. mounting

d. mountainous

O BN




CEANIPE LR XS L RS TP e

B HE[B5maEtEva] 287 5a3%

a. over
b.to
¢. with

|
. 7. He favors his daughter his son,

d. by

a. was

b. considered
¢. pleaded

d, accused

) 8. He guilty to all charges.

9. out is one of life’s liitle pleasures.
a. Dinning

b. Dining

¢. Diner

d. Dinner

10. Did you
a. went to see

b. gone to see

¢. going to see
d. go to see

“Brokeback Mountain®™?

11. Will those pandas from the Maintand by Taiwan cr not?
a. be accepted

b. accept

¢. acceptable

d. going

12. “How do you go to your office?”
“1 , but now that I have a car 1 do no longer.”
a. used walling
b. used to walk
¢. was using to walk
d. take a walk

13. f I were king of this island, I all the lawyers,
a. would kilt

b. will kill

c. was to kill

d. were to kill

14. “He visits Kenting every weekend.”
“But I heard he isn’t going this weekend, s
a. whatever
b. however
¢. besides
d. although




IFLURZODRFEREHERY AL RN

FEB A [BFmErgETa) 2P E 233

5. Although he is in his fifties, all his younger competitors.
& but he beat

b. that he beat

¢, and he beat

d. he beat

16. Don’tlook! There is a dead cat by the roadside that been run over by a car.
a. would have

b. can have

c. would have

d. must have

17. Tamreally sorry my temper.
a. to lose

b. lose

¢: lost

d. for losing

18. He inherited his house.
a. father’s and mother’s

b. father’s and mother

¢. father and mother’s

d. father and mother

19. “How do you take your coffee?”
“Oh, with just sugar.”

a. a little

b. little

¢. a little of

d. afew

. 20. Tomorrow we will have a from the rain.
a, rest

b. return

c. respite

d. review

21. What an thing to do, beating a defenseless animal!
a, appalling

b. appealing

¢. apparent

d. awesome

22. Mr. Sharon was _ by a stroke, shortly after founding a new political party.
a. hurt

b unconscious
¢, ill
d. felled
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23. The mayor of Taipei looks for higher office.
a, poised

b. to move

c. elected

d. potential

24, His teacher, Karl had the greatest respect, was arrested for shoplifting,
a. by whom

b. whose

c. to whom

d. for whom

25. Tinsisted to the doctor with that infection.
a. him to go

b. he go

c. he to go

d. be going

26. In the of passion men promise women anything,.
a. place

b. influence

: c. throes

d. interest

27. Bveryone was surprised by winring.
a. his

‘z b. him

c.he

‘l d, them

28. Some people give others take.
a. to

b. for

c.;

E d. nor

‘ 29. I'wishIcould drop English class this term!
i a. out from

, b. out of

| c. out off

d. out for

30. The opposition the march for several weeks.
a. 1§ planning

b. was planning

¢. plans

d. has been planning
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31. Success is a matter of yourself!
a. hard work

b. applying

¢. diligence

d. relax

32. Be sure to Yyour medicine two times a day!
a. take

b. eat

¢. take care

d. taste

33. Joan worked as a waitress for a year she could earn money for college.
a. because

b. so that

c. until

d. although

| 34, The Love River is cleaner now it was § years ago.
;i a. than

b. then

c.as

d. which

35.Twish I in Taipei.
a. live :
b. should live

¢. should have lived

d. lived

36. The government should the deficit.
a. vanish

b. take out

c. eliminate

d. spend

| 37. the professor nor the students were prepared for class.
i, a. Neither

| b. Either

¢. Not

d. Never

1_ 38. The criminal’s spoiled the rest of his life.
a. guilty

b. guild

¢. remorseful

d. guilt
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39. If only I could in a dictionary now!
a. consult

b. look it up

c. check

d. read

40. Will the Vatican diplomatic relations with Taiwan?
a. sever

b. detach

c. break

d. confound

Reading Comprehension

Singaporean officials had a bold proposition for their Indonesian counterparts at a top-level
meeting on March 18th: why not let us “manage” one of your islands? Indonesia, after all, has so
many islands—17,500 or so—that it has failed even to name, let alone govern, many of them.
And Singapore, with its 4.4million inhabitants, is desperately short of space.

‘The Indonesian isle that Singapore is most interested in is Bintan, just a short ferry ride
away. Singaporean firms have already buiit a string of fancy resorts and a few factories there. But,
according to the latest idea, the government would ensure that buckets more Singaporean money
would be spent on turning much of the rest of the island into a giant industrial park, which would
be run like a clone of the rich and successful city-state.

Even if the proposal is smiled on, it may be some time, given Indonesia's glacial ofiicial
decision-making, before it could happen. But it seems to make good sense: Singapore is one of
Asia's most successful industrializers, with a reputation for efficient and honest administration.
However, squashed onto an area of 633 square kin, it has a dire shortage of space. It has alrcady
expanded its area by around 10% through Duich-style schemes to reclaim land from the sea; but it
Is running out of scope to reclaim more. Indonesia, on the other hand, is desperate to attract more
industrial investment, seeing it as the key to cutting its worrying unemployment rate. Why not
bring in Singaporeans to do the job? {adapted from The Economiss, March 25,2006)

41. Singaporean officials want to “manage” the Indonesean island of Bintan

a. for Singaporean people to live on, because Singapore has run out of space

b. for Singaporean industry to be based on, because there is no room for that in Singapore #self
¢. for a string of fancy resorts to be based on, so that Singaporeans can take their vacations there
d. for Singaporean industry to be based on, so that Indonesian workers can find jobs

42. It is expected that the Indonesian government will

a. quickly agree to this proposition and make it happen

b. disagree to this proposal

c. take a long time to make it happen even if it likes the proposition
d. smile at the proposition because it makes so little sense

43. The Singaporean government

a. can also use Dutch-style land reclamations from the sea

b. cannot use Dutch-style reclamations from the sea for much longer
¢. can only reclaim 10% more land from the sea

d. can only build higher skyscrapers
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44. As an industrializing power, Singapore

a. is known to be efficient and corruption-free

b. used fo be efficient and corruptien-free, but is slowly losing that reputation
¢. is known to be aggressive and ruthless

d. is losing strength compared to Indonesia

45, Indonesia

a. has not named all of its 17,500 or so islands, but governs them strictly

b. has named all of its 17,500 or so islands, but doesn’t actively govern them all
<. consists of too many islands to even name or govern them all

d. manages to govern only a few of its islands, even though it has named them all

Manufactured products are made from 2toms. The properties of those produets depend on how
those atoms are arranged. If we rearrange the atoms in coal we can make diamond. If we
rearrange the atoms in sand (and add a few other trace elements) we can make computer chips. If
we rearrange the atoms in diri, water, and air we can make potatoes.

Today’s manufacturing methods are very crude at the molecular level, Casting, grinding,
milling and even lithography move atoms in great thundering statistical herds. It's like trying to
make things out of LEGO blocks with boxing gloves on your hands. Yes, you can push the
LEGO blocks into great heaps and pile them up, but you can't really snap them together the way
yvou'd like.

In the future, nanotechnology will let us take off the boxing gloves, We'll be able 1o snap
together the fundamental building blocks of nature easily, mexpensively and in most of the ways
permitted by the laws of physies. This will be essential if we are to continue the revolution in
computer hardware beyond about the next decade, and will also let us fabricate an entire new
generation of products that are cleaner, stronger, lighter, and more precise.

It's worth pointing out that the word "nanotechnology” has become very popular and is
used to describe many types of research where the characteristic dimensions are less than about
1,000 nanometers. For example, continued improvernents in lithography have resulted in line
widths that are less than one micron: this work is often called "nanotechnology." Sub-micron
lithography is clearly very valuable (ask anyone who uses a computer!) but it is equally clear that
conventional lithography will not let us build semiconductor devices in which individual dopant
atoms are located at specific lattice sites. Many of the exponentially improving trends in
computer hardware capability have remained steady for the last 50 years. There is fairly
widespread belief that these trends are likely to continue for at least another several years, but
then conventional lithography starts to reach its limits.

If we are to continue these trends we will have to develop a new manufacturing
technology which will et us inexpensively build corrputer systems with mole quantities of logic
elements that are molecular in both size and precision and are intercormeeted in complex and
‘ highly idiosyncratic patterns. Nanotechnology will let us do this.

(Adapted from www.zyvex.com/nano)

|
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46. Nanotechnology

a. promises to enable us to move atoms one by one in most of the ways permitted by the laws of
physics

b. promises to enable us to remove our boxing gloves and snap LEGO blocks to gether

¢. promises to enable us to manage great thundering herds of atoms

d. promises to improve computer hardware capabilities in about 50 years
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47. Nanotechnology

a, Tefers to research concerned with lithography

b. refers to research concerned with cornputer techaology

<. refers to research concerned with elements smalier than about 1000 nanometers
d. refers to research concerned with making potatoes out of dirt, water, and air

48. With currently available manufacturing technology, trends in computer hardware capability
a, will exponentially fmprove for another 50 years

b. will reach its limits in about 50 years

¢. will remain steady for the next 50 years

d. will exponentially improve for only several more years

49. LEGO blocks must be

a. easier to pile up when you are wearing boxing gloves

b. hard to pile up but easy to snap together when you are wearing boxing gloves
¢. easy to pile up and easy to snap together when you take off your boxing gloves
d. hard to pile up and hard to snap together when you take off your boxing gloves

0. As a manufacturing technology, nanotechnology

a. will be expensive, but precise

b. will allow us to increase the precision, cleanliness, strength and lightness of products
inexpensively

¢. will make products complex and highly idiosyncratic

d. will be available in about 50 years

End of the Entrance Examination
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. AR ERALRTAENG? (15%) MERIAH A TE eSS RHNIAT (5%)
1A FE FRTERAEAZEO LT (5%) AfAITEFI7E CIERERIBATAT (5%)

. SRR T AN AR B e PR
1. S (sensitivity)(5%)

2. FFELE (specificity) (5%)

3. ket (false negativity) (5%)

4. EREETESR(Talse positivity) (5%)

= BEEEAZILE - SPRERIGENARE BB ? (15%)
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(15%) .
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Part A: 50 43

— ~ 7ERSER TR - SRR AR RS R A B
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1. fAIFEREESIRAAH 7 SRR —BURBA RS LR - (5 4)

2. fAEE PACS 7 sEE— (R H A BB 2 B - (543)

3. {A158 LIS ~ RIS ? 7E REFIE L 2 FH 2 RS AR E—FIERES)? (7

53)
4. {58 DICOM ~ HL7 ? ZEREHEN L TR SMGHRHREY) ? (8
53

= BTHURR (e-Health) B EATESBUFEHRERLT - SEEBHEEAR
RS e B IR S LR B B 5RAE 7 — o DIHZES98 SARS IS
Bl - TSRS - TR RS SR SRR

(PN N9S CIEHERFER ) » EHERTEE SARS FRBE IS0 - N IRIVE A
FIERERRBIEE SARS SR RIEHR R ATHRIRT ? MEEhyRe & KT ss
FE EARHIFK - (25 53)

Part B: MAMMB0 ) P XX EXEELT -

= ~ Please describe different sources of power by Gary Yukl (1989) (15 43)

/4 - Please describe five interrelated elements of a leaming organization (20 43)

E2iPlease describe barriers to communication (15 43)
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Part A: &% (FE&H50%)
. FEERINETEEAENERIURERE—ENEE? (5%
2. FEERETLERNEBEIEE (unnecessary care) SR BATRIEE - (5%)
3. HELMEEFEERRENERER  ELTE - (10%)

4, BREEDEMIERAYER ], (academic heelth center) BT FRENHE =48 AR
£ ? (10%)

5. RBRARFENBR TSR TE - BB ? 10%)

6. FERELERASETHYERET - RERA - X - BUY - BRI AR AE
Fofa1 7 (10%)

Part B: FREARE (IEEF 50%)
| ST — SR RS R E T AR (Q0%)
2. SHEGIREACERREE? (10%)

3. IEREFEEE ISR FREIMUAES) - SR IEsh L R -
(10%)

4. BRTEEREIREEEATE NN RARBRA METGE? (10%)




